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SEOREERTEH ITER [ BERORE [T Y| Bt
(E&*) 17 58 0 | 75
E Y TER | SIERMDEE | #1gRY &%
BIEE CO R 14 56 0 70
HIRIEE 5 2 0 7
BEERBOER 12 56 0 68
BIIEENEF 2 0 0 2
TWKEZEREXE 5 19 58 0 77
E AR TEE | SIERMDEE | #1gRY &t
BIE % CO R 0 0 0 0
HIRIETE 14 58 0 72
THKREFAIZER XS 5 14 58 0 72
S EIDRAEEFTE TEH | 2lEsHtomRmE [#3 XY | a&t
(KJIF) 2 1 5 I 8
KINFTY TER | BEFMORRE | iR =5
BIEECHRE 10 98 7 115
FiREE 2 1 5 8
ITWKEZREE &t 12 99 12 123
KIIFIR TER | BERMORRE | iR =5
BIEECHRE 7 98 0 105
FiREE 1 1 0 2
T KERINZEREE 5t 8 99 0 107

XY=t KEFEHRE. R=1tRKEFINER X




